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GENERAL INSTRUCTIONS

Examines 3= directed to rend carefully the following
mstrackioms ;
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1. Exnmines muost wreite higher Boll Mumber in the
|’ll‘.lL"d.'I-"":|I'|:| bos an thie L] Lt henanl eorner of this HE D,
Abswers mre required to e marked enly on the

Computeriecd 1M Answer sheot which ig bvimgr
previded to thi cxnminee,

.+ Blesides filling in the Roll Mamber, the examinee has te
put hefier sipnature on the Answer Sheet nod abso Gl
ather requarisd details ke 2nme, Rall Mumber, Jupstinn
Bookler code, ke, s indicated on 1he Answer QMR
Sheot, If these details are not filled in by the exnminee,
higther Answer Sheed will et be evnlunted.

4. For ench question. there are four pliernative nnswers,
gt of which only ape is sorrect. Examines must dorken
the circle of correct option in the Answer Sheet by Black
Ball Pen only, In caze of giving more than one opthn
to o guestion, it will be cownted as wrong anawer and
marks will be dedurted recardingly.

| ]

4. There nre 40 (36+4) pages in this Question-Boeoklet
ineluding 1 poge for General  Instructions and three
blank pages for Hough Work in the lnsi, In case
an examines receives nn incomplete or defective
Question Beokler, hetshe should make n request
to the Hoom lovigilater to change the same within
10 minutes of start of the exam.

5, This Questicn Hooklet contrins 150 questions From
following subjects
(1) Engp. Phisdics Mps. 1=350
(2] Engg. Chemistry . Mos, 51 = 100

(1) Engp Mnthemnatice . Mo, 101 = 15
f. Ench question carries 1 mark nnd %4 mark will he
deducted for each wrong answer
. In case of any discrepancy between the English and
Hindi verzions of any question, the English version will
b treafed as finallsuthentic
E, Possecsion and uvse of electronie dovices sach ne

Calzulator, Cellular Phone, Digital DMary, Log Taolde,
Pager ete., are restricied didrving the exwminnl s,

8. Any lead from the Question Beoklet shoubd not be
detrched. After the Exominotbon. Answer-Shoeet must
ke handod e to the Room [nvigilator,

10, Durng examination the examinee will not b allwed
to Jeave the examination hall Gl the END of the
Examination

11. Examinee can carry Question Booklet onee the
Examination i= completed

—
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ENGG. PHYSICS

1. If the ammeter in the given cireuil
rends 2A, the resistanee R is
30
T —
R
- AW—
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By 202
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D 4580
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3

1 kilo watt hour is equal to
~A) 36 x 10 joules

B) 36 x msjuules

) lﬂajmllenﬂ

D) 10" joules

. A evelotron is used to accelerate
protons, deuterons, o-particles, ete. If
the energy attained after acceleration,
by the protons is E, the energy
attained by a-particles shall be
A) 4E
B) 2E
C) E

E
o) 1

Page No. i
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A) 36 % 10° 95
B) 36 x 10" 9@
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A) 4E
B) 2E
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4, The magnetic field on the axiz of a
long solenoid having h turns per unit
length and carrying a current I is

A) pynl
E) punﬂl
C) pynl*
D) None of these

| 4.
|
|
I

At a certain place, the horizontal
component of earth's magnetic field 15
J3 times the vertical component. The
angle of dip at that place is
A) 607 B) 45°
C) 90° Dby 30

&=

6. Astressof 3.18x 10°Nm™ is applied to
a steel rod of length 1 m aleng its length.
Tts Young's modulus is 2 X 10" Nm™,
Then the elongation produced in the
rod in mm is
A) 2.18
B) 6.36
C) 5.18
D) 1.589

7 Cohesive force is experienced
hetween
A) Magnetic substances
B) Molecules of different substances

C) Molecules of same substances

D) None of these

age No. |1

o faffm &H W

crard n ga aren st 1 fags

ofs T :
efy TR T T

ClEiREd
i 2
A) pnl
B) gnnﬂI

C) Iinnlz

D) =i & wid T

yefl & 9T & =
A weH, AT TR #1+/3 TM R |
B) 45°

D) 30°

A) BO°
c) 90°
1mﬁaréamﬁqﬂ¥frﬁﬂﬁ‘rﬁ'smmﬁr

iﬂrqﬁ’tﬁtﬁﬂlﬂxlﬂsﬂm 1 T
g T S 8 | SHET A AN
5 % 10" Nm™2 %, o1 ©8 H IeT=1 dHi=m

mm H &

,[3"“
A) 3.18 E}*f f’f i
ﬂa -' I
B) 6.36 i{;);g’{*& .;r-¢'l ¢
C) 5.18 E}ﬂlf
D) 1.59
. HHAF FH & e T fE
AR |
A) Tahr Terd
B) fafi= wened & s
C) #aH werel % 31
D) " A Wi T
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8. Volume, pressure and temper;t.ure of
m.] ideal gasare V, Pand T respectively,
If mass of its molecule is m, then its
density is (K — Boltzmann constant)

A) mKT

By L
KT

P
[ ) T
}I{T"if

F
D) T

- How many times a diatomic gas
should be expanded adiabatically so

88 to reduce the root mean square
velocity to half 7

A) 64
B) 32
C) 186
D) 8

10. Infrared radiation is detected by

A) Spectrometer
B) Pyrometer
C) Nanometer

D)) Photometer

11. Inap-typesemi-conductor, germanium
is doped with

A) Oxygen
B) Phosphorus
C) Aluminium
D) Silicon

Piage No. b

B,

10,

11.

U e e % e, T i aee
F: V, PR TE | o amp
FEEEE m #, T 6 O B

(K - dregaty famms)

A) mKT

B b
KT

P
© v
Pm

2 ®T

. = Tprmmias fig =i oot =9 & fem

T e E = wie A g e
e B A 7

A) B4

B) 32

C) 18

D) 8

watE TR & T
i 6 S
A) Tt
B) umgite
C) 3
D) wrenfim

TF p-NEN % sdwrems §, sHtag §
1 feremae 1 I R

— AT ThTE

A) FHiwfm
B) wienms
C) vt
D) ffersta
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13.

When NPN transistor is used as an

amplifier
A) Electrons move from base to

eollector
B) Holes move from emitter to hase
() Electrons move from collector to
hase
D) Holes move from base to emitter

An object is kept at a distance of 60 cm
from a concave mirror. For getting a
magnification of ;-l/é . focal length of

the concave mirror required is

A) 60 cm
B) —40 c¢m
C) =20 em

i

-

D) 30em s

14.

If the critical angle for total internal
reflection from a medium to vacuum is 30°,

the velocity of light in the medium is

A) 3x10°ms™

B) 1.5 x 10°ms™ ybr

C) 6x 10°ms™ o :-('H"F’f-f’ :;' ]
£ T

D) 3 x10°ms™

_ A eonvex lens of focal length 40 cm

iz in contact with a concave lens of
focal length 25 cm. The power of the

combination is
A)=-156D
B)-65D
C) +6.5D
D) +1.6D

12.

13.

14,

15.

(Vi oo

w1 NPN gifer 1 v s w1 H
it faran =T & A

A) FomE SR § T 3 oo 8
B) firz Jrooi & AW = T wed §
() TPEH THEE B YR R AR T §
D) fog snum @ IrEet ) AR e #

wF T FI U Haaw g9 & 60 cm
7l w T A 2 | %aﬁmﬁdqmm
w11 % foru aifq seae fo #1 B
o

A) 60 cm

B) —40 cm

C) —20 em

D) 30 cm

s wem @ Fia A ol arfaies g6 &
for whife® wiw 30° B, W WIEAN § W
=i i &

A) 3x10°ms™

B) 1.5 x 10°ms™

) 'E-KlﬂEI]]E_l

D) 3 x 10°ms™

40 cm BT TETE T Uk Iod @i 26 em
TIEH TETS o U A HH h deh A £ |
AT o wiE 2

Ay -186D

B) -656D

C) +6.5D

D)+156D
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16. If n magnetic substance is kept in

19.

n magnetic held, then which of the
following is thrown out ?

A) Paramagnetic
B} Ferromagnetie
) Di.llt:l'u'tgm,!t'i:'.

DY Antiferromagnetic

7. A eoil of area 100 em® has 500 turns.

Magnetic field of 0.1 weber/m® is
perpendicular to the eoil, The field
is reduced to zero in 0.1 second. The
induced emf in the coil is

A) 1V

.

T LR
=T ﬁ-t.[:':'TILb i

B) 5V N S
C) 50V e
Fu.

D) Zero g RS

T i\

. A circular coil of mean radius of T em

and having 4000 turns is associated
at the rate of 1800 revolutions per
minute in the earth’s magnetic field
(B = 0.5 gauss), the maximum emf
induced in coil will be

A) 1,158V
B) 5.8V

C) 0.20V
D) 0,58V

The de Broglie wavelength A

A} is proportional to mass

B) is proportional to impulse

C) inversely proportional to impulse

D) does not depend on impulse

16, 7R % S veed F) o e g

™ w2, ° Fetetas | 8 oA
T fem =om ¢

A) FIITRA
B) weswha
C) wiergada
D) wfaetedasma

17, 100 em” &= H TF Sl § 500 99=

# 1 0.1 weber/m® =1 e &9 $Eit &
HEad R | EA Ol ERE YR B A R
Feeh 1 Ui R @

A1V

B) 5V

C) B0V

D) 1=

18, 7reg = 7 om 3 4000 TEE] T

F gATER FEel geEft ¥ ey &
(B = 0.57=) § 1800 ¥ wfa fowe
#1 A T B, T W Uim wiwam
ERLRLCE

A) 1,168V

B) 5.8V

C) 0.29V

D) 0.58V

19, St e Tt A

A) 79 % wT

B) 3&m % @Rt &

C) wmEm % wiend s

D) amEm o fnft i &
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20, The photoelectric effect can be 20, W=

THTE ¥ I T

understood on the basis of e W G R |
A) The principle of superposition A) e w1 g
. B) E:'é':‘t electromagnetic theory of | B) mﬁ'@_ﬂgﬂ*ﬁ“ﬁfﬁ
C) The special theory of relativity C) wrEw 1 e e
D)) Line spectrum of the atom D) 98] =R W R
21. The ultimate individual unit of 21, fareft o o g = FHferm wfaw
magnetism in any magnet is called T FEATH B |
A) North pole B} South pole A) I B) =fim y=
C) Dipole D) Quadrapole C) fm D) SqE
22. At which place, earth's magnetism 22, frm e W gt # HeEdea afaw L4
becomes horizontal ? AR 7
A) Magnetic pole A) TG U=
B) Geographical pole B) e ya
C) Magnetic meridian C) gadE YEga
D) Magnetic equator D) Se%E fagad
23. The radius of curvature of the path 23, TF FEA gAhT &3 § G = ER O
of the charged particle in a uniform £ a1 = & WeaE
magmetic field is directly proportional to qur 2 |
A} The charge on the particle A) TFU U7 T
B) The momentum of the particle B) %W w1 AT
C) The energy of the particle C) w1 Ht Tl
D) The intensity of the field D) &= i e
24. Three bulbs of 40 W, 60 W, 100 W are 24, 40 W, 80 W, 100 W & 7 5= 220V
arranged in series with 220 V supply. afd Ty Awen ¥ sraftum fremo g |
Which bulb has minimum resistance ¥ e T 1 TR =g R 7
~A) 100 W A) 100 W
B) 40 W B) 40 W
C) 60 W C) 60 W
D) Equal in all bulbs D) a4t aval F qum
A o M Page No. 8 02 EE(LE)
"R, S
£z 3 PaV oG
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20, Unincreasing the plate separation of
i charged condenser, the energy
A) Increases
B} Decreases
) Remains unchanged

D} Becomes zero

26. The equation of state of some gases can
beexpressed as [ P+ %] (V-b)=RT.
Here P'is the pressure, Vis the volume,
T is the absolute temperature and
a, b, R are constants. The dimensions

25.

26.

v STt Fef F ofim seme = s
T FHl

A) =5t @

B) @n w8

) zfaEfdE w8
D) 7= ¥ st 2

Fo i ) = w5 wE
[P+l2]{v—h]=nfr%ﬁqﬁmﬁmﬁ
v

fam =1 w & | W= PEm 3, V s
8, T pof T & 3 a, b, R s #

of ‘a’ are ‘a’ i femmd 2 ,;T"L,s_;,f{>'
A) ML*T A) MLET™ C.L L
B) ML "2 B) ML . ,U);,‘il; b ¥
C) MELT-! o MALT™ o Wt <S4 oY
Dy MLET- -~ D) MLT-2 r v L
..r."'.-
27. Light year is & unit of 97. W =Y #1 T 7T 2 ¥ o8
A) Time A) T P
B) Mazs B) g=wE "E‘J“‘L"J 1:;, &
C) Distance C) 5t i
D} Energy D) =i
28. A body falling from a high minar 28. uHh S dAn @ wim w e o v i
travels 40 m in the last 2 seconds of Ao edmE d 40 m H qu AR
its fall to ground. Height of minar in MR S FEE m R (g =10 ms™
metres is (g = 10 ms ™) A) 60 i w?{;?
)80 B) 45 " % E\ tqr‘ﬁ"ﬁ
1 B) 45 & i ) M"“ﬁw 2o h_,f-"‘ﬁ
C) 80 Wk ) £ & g
) 50 D) 50 "'f"-.f""lls'p _:;r- 11'3"7’
U7 eemam
4 )
i .L' | f]-h “,-_:.jkj'r‘i- » ﬁ}}ﬁﬁ .
/ i -:;I.E"- L 1"1}{|F" g ¥ e 1\,'"« i ;
i 'IP S x_I:T ‘ i - W L
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20, A cyvelist turns around a curve at
15 milesthour, If he turns at double
the ,c-.ppu:i, the tendency to overturn is

A) Doubled

B) Quadrupled
) Halved

D) Unchanged

0. A bullet is to be fired with a speed of
2000 ms™" to hit a target 200 m away
on a level ground. If g = 10 ms™, then
the gun should be aimed

A) Directly at the target
B) 5 em below the targoet
C) & cm above the target
D) 2 em above the target

31. A particle is executing SHM along a
straight line, Its velocities at distances
x; and x, from the mean position are
V, and V, respectively. Its time period is

2

A) 2 2275
‘u’t _vﬂ

B) 2x VI + V2
1:;54-322

. [VE_VvE
C) 2ot

20, R W TEM g% % W n

15 miles/hour T A1 # | Tig 98
it mif @ aEm #, @ s ol
Bl W 8 |

A) wE
By =
C) e
D) sqfaEfda

30, Th el 2000 mst 1 i ¥ vF Hgoad

g T 200 m g UF TS W gPf A
giﬁg=lﬂms_2%,ﬂﬁﬁﬁ;@ﬂﬁm
7T B =R |

A) =g T

L1,

Lt

Fim bl 1_':|

B) @59 # 5 om 4 E"_""'—
C) g H Sem W -_:%”ﬂd.wc»a

D}Hﬁﬁﬂcmm

1. UF F0 U didt T % o ae wEa

e = Te1 8 | mvey feufs @ ) 3 x,
gl o e A e Vo sV, E )

T WY vty #
A) 2n | X278
VE -V

2 2

By 2 [V 2V
2_yz

) 2n ,’ Vi
T

1 —Xg

x% —x2

D) 2n |—-L—"2

v{ ey 1|i'rlT
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42, The phase difference between the two
particles situated on both sides of a

node 15
A) O° B) 90°
C) 180° Dy 360°

33, The charge q is projected into a
uniform electric field E. Work done
when it moves a distance Y 1s

Y Y
A) = B) 41
qE ‘ E
q&
E_:I ? ) D} {[E&r

34. The energy required to charge a
parallel plate capacitor of plate
separation d and plate area of
cross-section A such that the uniform
electric field between the plates is E, is

A) gE"Ad
B) - £,E’Ad
0 %E,DEE /Ad

D) eE* /Ad

35. In a conductor, if 3000 coulomb of

charge enters and 3000 coulomb of
charge exits in time 10 minutes, then
the current is

«~A) 5 ampere
B) 10 ampere
C) 2.5 ampere
D) Zero

Page No, 11

32, mw AT & 2N i B 9 it F by

FET B
A) 0° Bj 90°
C) 180° ) 360°

33, whanH fogn @ B4 smEm g % nafm

foran s & | o @w Y gl 9w B, 94
fen T w2

Y Y
I By 91
) ak E
qk
C) ¥ D) qEY

34. w1 smE d 3 vy e w1 9

%A A % U HUET g i w6l
wrafim w0 & o aifisn =, e ven s
ufgsmail & e woe dge &3 E R, df

A) gf°Ad

1
B) EﬂnEgﬁd {ﬁ”
2
0) FE* 1Ad 4
D) eE* /Ad
35. T TaTes | 9tg 10 fFe w4 3000 55m
HEY VAW w0 8 3 3000 Few FEW
et Frerern 2, o e 2
A) 5 urfim
B) 10 =iy
C) 2.5 it
D) 1=

02 EE(LE)



a6, If the angle of prism is 60° and angle

A

38.

49,

of minimum deviation is 40°%, the angle
of refraction will be

A) 30¢

B) 60°

C) 100°

D 120°

_ What will be the input of A and B
for the boolean expression

{A+E].{a.ﬁ}=1 ?
A 0,0
B) 0,1
). 1,08
m 1,1

A radipactive sample has a half life of
1 year. The fraction of this material,
that would remain after 5 vears will be

e, af: fasw w60 R 3 =g e

&) =
32
Bj % %J\”%
o o v e
1 -_,.- Py % i
- b 1
.D 4 _:.-"L - ;_I._ '!. I'-.-:-Lt:-:
'3 . - ﬂ?xé %E}

Two lenses of power + 12 and — 2
diopters are placed in contact. What will
be the focal length of combination ?

A) 10 cm

B} 125 ecm
C) 16.6 cm
~]]J' 8.33 cm

Page No, 12

37.

38.

39,

7 Fm 40° &, T I 9 EW
A) a0°

B) 60°

C) 100°

D) 120°

oferm sifweaf®t (A+B).(A.B)=1
YfmAsRBeI g #0087
A) 0,0

B) 0,1

C) 1,0

D) 1,1

wr il g o Fgig 1A R 1A
wered w1 wim-ar W 5 =9 = ot /w7

A) L
B)

0

e BIE @n]e g
2

D)

+ 12 #HI — 2 ST I FiFaa] G &) e
wt dud § van s } | HEEA R R
o = w7

A) 10 em

B) 12.5 em

C) 16.6 cm

D} 8.33cm

02 EE(LE)
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40, In vacuum, an electron of energy
10 keV hits tungsten target, then
emitted radiation will ba
A) Cathode rays
B) X-rayve
C) Infrared rays

1) Visible spectrum

41, The mass of ship is 2 % 10" kg. On
applying a force of 25 = 10° N, it is
digplaced through 256 m. After the
displacement, the velocity acquired
by the ship will be
A) 12,5 ms™
B) 5

C) 3.7ms”

42, Abody whose momentum is constant,
must have constant

A} Force

B) Velocity

C) Acceleration
D) All of these

43. A force of 5 N making an angle 6
with the horizontal, acting on an
object displaces it by 0.4 m along the
horizantal direction. If the object gains
kinetic energy of 1 J, the horizontal
component of foree 18
A) 1.5N
B) 25N
C) 35N

D) 45N

‘ D) 4.6 N

40, Frafa # 10 keV i 591 &1 UF Ferag P
e g e &, Ieab Al G°

& .
Ll TS
A) e R O
B) X-frui o > ey
C) s fam SRS
LT -
D) 7% T L ¥ Y
oz W

41, W T A 2% 107 kg B 1 4
25 x 10" N 1 =9 T A1 W T8
95 m faeenfim 2 = & | e %
aTE, T g W fm mn am ol

Ve Yy
A) 12.5ms v ﬂa’r
B) 5ms™ a4
Cy 3.7 ms w
D) 2.6 ms™
49, wF Tz =1 amEm Faa 8, 3E .
Wi T B &
A)
B) = B o
C) = A% T et
.
D) 3wl NS

43, T TR W 5 N &1 70 o & W ke
¥ TY O & T R, T8 T W Al
form 3 0.4 m Fereenfia = & |l ==
1 J &1l FE W W g, 1A

difoa e 2
A) 15N
B) 25N
C) 8.6 N

02 EE(LE)




441,

46.

A block of mass 10 kg moving 1n
x-direction with a constant speed of
10 ms ' is subject to a retarding force
F = 0.1x «J/m during its travel from
x = 20 m to 30 m. Itz final kinetic
energy will be

A) 450
B) 275 4
C) 250 J
Dy 4754

. A satellite which is geostationary in

a particular orbit is taken to another
orbit. Its distance from the center of
earth in new orbit is 2 times that of
the earlier orbit. The time period in
the second orbit 1=

A) 4.8 hours

B} 48+/2 hours
C) 24 hours

D} 2442 hours

A metal block is exposed to beams
of X-rays of different wavelengths,
X-rays of which wavelength penetrate
most !

A) 2A
B) 44
C) 6A

D) 8A

Chage o1

44, e Frmm fa 10 ms™ % @ x-fam A
el B3 T 10 kg F599H T w5
x=2ﬂmﬁaumwaﬁtmm%
fﬂ'ﬂF=ﬂ--1fom#ﬁ'ﬂ=lilE#a:ﬂﬂ=lﬁl
ey aifom mfest Sl @R
A) 4507
B) 27564
) 250J

D) 4754

45, e ford e | i IT0E i FE0 A
# = s e # | 7 wen f g % %y H
waeht 2ft et wen @ gt & | ZED A
T T wafy #

A) 4.8%
B) 4842 ©2
C) 24 %
D) 2442 W2

46. TF uig @z w1 fafrm wdsm 9w
X-Fertot 3 v 3 van e & | FRw amRe
el Xt stfies e =il 7

A) 2A
B) 4A
C) 6A

D) 8A
02 EE(LE)



44. A block of mass 10 kg moving in
x-fdirection with a constant speed of
10 ms is subject to a retarding force
F = 0.1x J/m during its travel from
x = 20 m to 30 m. Itz final kinetic
energy will he
A) 450 J
B) 2754
C) 250 J
D) 475 4d

45. A satellite which iz geostationary in
a particular orbit is taken to another
orbit. Its distance from the center of
garth in new orbit is 2 times that of
the earlier orbit. The time period in
the second orbit 1s

A) 4.8 hours

B) 4842 hours
C) 24 hours

D Ed-fi hours

46. A metal block is exposed to beams
of X-rays of different wavelengths,
Z-rays of which wavelength penetrate
most ?

A) 2A
B} 4A
C) BA

D) 8A

Pape No, 14

44, e Fraa i 10 ms " & &y x-faemn o
el B30 T 10 kg BTS00 W w0
% =20 m ¥ 30 m 7 F T TN H
JA F = 0.1x J/m 3 Ted = 3 A § |
sy Fifm R Fai 2ef

A) 450
B) 275
C) 2507
D) 475 J

45, v fadrs san # yrnfass aume < ol wan
# o o R 7w § s Fdm A
ekt gt freeht s @ 2oph B 1 980 S
d gy wafa §

A) 4.8%2
B) 4842 =2
C) 249
D) 2442 =2

46. % urg w2 H fafvs wingsde Tl
X-Ferreit = go v wven & | R wtresda
areft Xl st Sem w0f ¢

A) 2A
B) 4A
C) 6A
D) 8A
02 EE(LE)
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t.ﬁ.ﬂ
17. The ratio of the longest to shortest
wavelength in Brackett series of
hydrogen spectra 15

2

A)

= gnj

=1

B}

e

o |

C)

o Jf =Y

)]

48, In a nuclear reactor, the fuel is
consumed at the rate of 1 mg/s. The
power generated in kilowatt is

A) 9107
B) 9x 10
C) 9 x 10°
D) 9% 10"

49. A freshly prepared radioactive sample
of half-life 4 hours emits radiation of
intensity which is 64 times the safe
Jevel. The minimum hours after which
it would be safe to work with it is

A) 4 B) 24
G 12 D) 16

50. The radioactive decay of uranium into
thorium is expressed by the equation

g U3 ——  Th** + X where X is
A) An electron
B) A proton
C) A deuteron
D) An alpha particle

A IPaee No. 15

47, FrEEr T B e Een § weE o
§ B A w1 I §

25
C) E

4
D}E

48, TF TR R g, o % I
1 mgls 1 =0 90 ¥ | FenifeA wiw
Tereitame d 2
A) 9x10°
B) 9x 10
C) 9 x 10°
D) 9 x 10™

49, 4 9% #1 39 Te U A1 S T
tisivendi wpn gfdm | 64 0 FAfEE
e i fafe et w2 1 T8

= w2 fimd e T WY S
ifia &

A) 4 B) 24

C) 12 D) 16

50. qifyaw 3 difem § Wednd fraz =0
g2 U3 —— o Th*¥ + X Feli gr
wefifa frm wm @ sl X 2
A) T TR
B) UF WRH
C) uF TEH
[)) TR HEE

02 EE(LE)




51. R—NH, +CHCl, + 3KOH ———

ENGG. CHEMISTRY

Heat
R— NC+ 3KCI + 3H,0
This reaction is known ag
A) Carbylamine reaction
B) Sandmever reaction
) Gattermann reaction

[ Hinsbergs reaction

. @ CO, HCI ~_@f'ﬂm
‘ Anhyd. AICL/CuCl * '

This reaction 18 called
reaction.

A) Gatterman-Koch
B) Etard

) Stephen

D) Acylation

alzo known as wood spirit was
produced by destructive distillation of
wood.
A) Methanaol
B) Ethanol
C) Propanol
D) Butanol

. Deficiency of cAusSes

convulsions.
Ay Vitamin A B) Vitamin B,
C) Vitamin B, D) Vitamin B,,,
4HCI + 0, —25 5C], + 2H,0
This i Process,

A) Deacon's
B) Wilson's
C) Sandmeyer's
I} Baeyer's

SR

s1f, wamaA e
=

51. R = NH, + CHCl; + SKOH ————
B _ NC+ 3KCl + 3H,0

wq sfufEn & e & |
Mm‘iﬁ:ﬂﬂl’iaﬁﬁﬁﬁ'{

B) Herfr st

) fredia afufwn

D) Tt safirfern

" @ co,HCI @/EHD
: FeErfaEa AlCL/CuCl

R Rl s il St

e A

';_ji-:;

g

[) THETEEER

53. fad ge Toufe o <@ @ 2, ost
% Yo SEES g0 Joaiien R W R
A) et
B) 31w
C) WreTe
D}E'EHT'E—I

54. 1 =i & FeEeTH T R |
A) Frerfim A B) fa=ifim B,
C) faafim B, D) ffm B,,
56. 4HC1+0,——15 90, 4+ 9H,0
TR _wfemn &
A) TE
B) foemm
) Heirp
D) #m

m 02 EE(LE)



26, The addition of to butter
increases its shelf life from months to

VEATE,
A) BHT B) BHA
Cy BTH Dy BAH

6. __ 18 responsible for the nasal
congestion asseciated with common
cold and allergic response to pollen.
A) Histamine

B) Cimetidine

C) Ranitidine

D} Meprobamate

8. Nylon 6 is obtained by heating
with water at a high temperature,
A) ethylene glyeol
B) caprolactum
C) terepthalic acid
DY) adipic acid

a9. and albumins are the common
examples of globular proteins,

A) Keratin B) Myosin
C) Insulin D) Glyein
&0, iz insoluble in water and

constitutes about 80 = 85% of starch.
A) Cellulose B) Lactose
C) Amyloze D) Amylopectin

61. Tear gas is

A) CCLNO,

B) COCI,

C) Ca(OCl),

D) Cl1 CH,CH,5 CH,CH,CI
A

a7.

o8,

bo.

60.

61,

Leicolt| fem= ® st wEmm
sty el & =l o 99 W awd &
A) BHT B) BHA
C) BTH D) BAH
T SO 3 e U 3 w5
TR H T2 A A9 B9 % R aeeri
A) Tewifom
B) faremdia
C) Hidi
D) HurEmE
AR 6 T Ied AU T Al & =g
wm TR A R
A) ZUTEHR wIgHIa
B) Ty
C) e ams
D) ufzfes s
3 wefin deren OEE &
AW 5§ |
A) TRifem B) AmfEa
C) gF= D) w=mEfEa
o A e ® i = W
80 - B5% e s 2
A) Heeira B) dwr
C) mE=Em D) uHEEEER
g B
A) CCLNO,
B) COCI,

C) Ca(OCD),
D) Cl CH,CH,S CH,CH,CI
02 EE(LE)
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a8,

59.

60.

61.

. The addition of to butter

increases 1ts shelf life from months to
YEATS,

A) BHT
C) BTH

B} BHA
D) BAH

15 responsgible for the nasal
congestion associated with common

cold and allergie response to pollen.
A) Histamine

B) Cimetidine
C) Ranitidine
D) Meprobamate

Nylon 6 is obtained by heating

with water at a high te mperature,
A) ethylene glyeol

B) caprolactum

C) terepthalic acid

D) adipic acid

and albumins are the common
examples of globular proteins.

A) Keratin B) Mvosin
C) Insulin D) Glyein

15 insoluble in water and
constitutes about 80 — 85% of starch.
A) Cellulose
C) Amylose

B} Lactose
D) Amylopectin

Tear gas is

A) CCLNO,

B) COCI,

C) Ca(OCl),

D) C1 CH,CH,5 CH,CH,CI

Page No. 17

5.

av.

58,

50.

60.

61,

e i forems | gweht Wewm
sraty wEET & a4l 7% g ool B
A) BHT B) BHA
C) BTH ) BAH
YT Tt W] TR 3 "
IHH H L T 95 B o6 A T B
A) Temifim
B) fremdia
Q) Hrerdh
D) iz
TEEAA 6 UF Ied AUHE W OFE & '"
=1 fRn w e & wmE B R
A) ZuTEEA TS
B) TR
C) Tcdfasw ars
D) uiEfmw s
3 Trfe METET WA F
AT T |
A) fwifm B) mmitE
C) sgiem D) v
& H et @ ol = W
B0 — 85% T = & |
A) HeEm B) d@era
C) e D) TSR
a1y @
A) CCLNO,
B) cocl,

C) Ca(OCl,
D) €l CH,CH,S CH,CH,CI
02 EE(LE)
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[

The almost identical radii of

2
a consequence of the

and . _
Innthanoid contraction.
A) Ce and HO

B) La and Er
) Zrand HI
D]‘ Nd and Lu

63. Higher levels of in air causes
dizziness, nausea, tingling and
numbness in the fingers and toes.

A) chloroform
B) trichloro methane
C) tetrachloro methane

D} methylene chloride

64. Phenol is converted to o
heating with zinc dust.

A) aldehyde B) ketone
C) acid I} benzene

65. The commercial alcohol is made unfit
for drinking by mixing in it some
copper sulphate and

A) Kerosene

B) Pyridine

) Chloroform

D) Carbon tetrachloride

66. For a first order reaction t}é 15
A) proportional to [R],

B) independent of [R],

C) depends on [R],

D) zero

Page No. 18

G2, 3 T U
Sy Fore SfdATEs WA @ oftem B
A) Ce 3 HO
B) La 31 Er
) Zr 30 HY
D) Nd 3 Lu
g3. T H F1 I=9 L 4B,
i e, Sfert s 4wt AR
Ha1 A2 |
A) FEARIGH
B) TrEdwin deE
C) el HE
D) HumEe T
64, Tirter ot 1 gm & =y i fRe = @
# witafda & = 2
A) UFEETEE B) FE
C) an IR Eic
65. e Fehiee = T4 & fom 3@
A % {0 30 T F5 w0 Gehe 3
feretman S &
A) HHE
B) grdifzs
C) Fere
D) wmA SgEwnTEs

66. U o %A i il ig ty 2
A) [R],* HomH i

B) [R],® =
C) [R], T Fnix
D) 7=

02 EE(LE)



Y 18 the purest form of | 67, E‘[ﬁfﬁlﬂj ?:I:f w1 e
commercial iron and is prepared from = # ot o2 Tl e 8§ ZoTe 51 oA
eaal 1ron tl:i' ”Hidi;inﬂ- imp".[ritir_"i n m oh -q-uaﬁ 1_'—';.!FI ﬁ Hq&iﬁ t; T
u yoverberatory. furnace lined with: . - 1T
hagmatite,
A) Stecl A) ®R )
B Pig iron B) Toeai ?I:I‘EI
() Cast iron C) Z=El =E
1y Wrought iron D) =41 e
68, is used for refining Zirconium 68, 1 WAV THEE T
or Titanium,. et e 2
A) Hall-Heroult process A) wie-2rEee Whma
B} Solvolysis B) #eatietas
C) van Arkel method C) 39 e Tafy
I3} Mond process D) frE wfEm
69, The spontaneous combustion of Y, SRR 1 UHIUH 583 a5 E
phosphine iz technically used in T wgEE 7 2 |
A) Flash lights A) AT TS
B) Holme's signals B) ®ied & Honl
C) QLEIYs C) ER@EH
D) OLED's D) HierzH
70. Oleum is 70, 3nfagg 2
A) H,S0, A) H,80,
B) H,SO, B) H,SO,
C) H,S,0, C) H,8,04
) H:,_S!UT D) H,8,0,
71. is non-narcotic analgesics. 71. T -l geAmEl 2
A) Morphine A) HITRA
B) Heroin B) #UsH
C) Codeine C) FrA
D) Aspirin D) w=ife

A Page No. 19 02 EE(LE)




T3

T4.

T6.

~_js used for manufacturing
conveyor belts, gaskets and hoses,

A) Buna-N

B) Neoprene

C) Buna-5

) None of the above

is Freon 12.
&) CCLF,
B) CCLF,
C) CCLF
D) CCLF

Salicylaldehyde is present in

A) Vanilla beans

Bl Cinnamon . 'I_:!-x':'

g

&) Meidow swast
D) Sunflower

. ODxidation of ammonia into nitric oxide

occurs in the presence of in
Ostwald's process.

A} finely divided nickel
B) finely divided iron

T4,

74.

5.

T WE e ave, e
3 #r 7 3 T e 2 )

A) =N
By fands

C) =AL-S
D) 3w 4 # w1 T

frama 122 1

A) CCLF,
B) CCLF,
C) CCLF
D) CCLF

B8 T g | A
B & |

A) ==HEn "i=g
B) ==
C) d=t =i
D) e

Arzarer i afEm #°

=i Iofeaf o smifen s afeames
Fafaa g 3
A) wER ¥ 8 ot teem

0 Iufem

B) =t =1 8 fawfaa =im

C) platinum gauze C) wfeAm s
I sulphur trioxide D) He TsiisaEs

iz an example for triclinic 76. e faes w5 o
erystal system, TEE R
A) CasS0, A) CaS0O,
B) BaSO, B) BasO,
C) H,;BO, C) H,BO,
D) KNO,

! D) KNO,

02 EE(LE)



B,

78,

80,

81.

is the percentage of total
space filled by the particles.

A) Packing efficiency
B} Thermal efficiency
C} Energy efficiency
1M} Space efficiency

18 also called dislocation
il el

A) lmpurity defect
13} Interstitinl defect
C) IFrenkel defect
D) Vacancy defect

+ The unit of Ebullioscopic constant K is

A) K kg mol™
B) K kg™ mol™
C) kg K™ mol™
7y K kg mol

The value of van't Hoff factor i gets
close to for K,80,.

A) 1
B) 2
C) 3
Dy 4

Acyl chloride is hydrogenated over
catalyst, palladium on barium
sulphate, This reaction is called

A) Gatterman-Koch reaction
B) Rosenmund reduction

C) Stephen reaction

D) Etard reaction

77.

8.

79,

80.

81.

! D) et sfufrmn

FOjT gAT Wt M FE TUE
wfiaa & |
A) e
B) =g &
C) Fai sum
D) = &

aremae famn ot wwemn & |
A) iy fem

B) siaei fawn

C) e fEn

[ frfEa fen

FEYEAT (i) Fres K
TS §

A) K kg mol™

B) K kg " mol™

C) kg K 'mol™

D) K kg mol

K, 80, % fom o 1% 17 i & °H
_ wfeedmi

A) 1

B) 2

C) 3

D) 4

THIEE FEANES i 91y Aok T i
TEF W fem = 2, =
wfufan wed £ |

A) Tt -wre whifsm

B) T 3T=y

C) e wfufEm

02 EE(LE)



82, Commercially gluense js ohtained hy
hydrolysis of starch by boiling it with
at 393K under pressure.

A) HI

B) dilute H 50,
C) NH,OH

Dy HCI

83. Nylon 2-nylon 6 iz an alternating
polyamide copolymer of and
amino caproic acid,

A) adipic aeid
B) alanine
C) glveine

D) E-caprolacteum

84, 18 the most successful and
widely used artificial sweetener. It is

roughly 100 times as sweet as cane
sugar.

A) Sueralose

B) Aspartame
C) Saccharin

D) Alitame

85. Transparent soaps are made by
dizsolving the soap in and
then evaporating the excess solvent,

A) glycerol
B) acetone
C) rosin

D) ethanol

g2. aiff=rs =R 393K T 9= T
=T F F UM TH FE Ty
e BT g e | R
A) HI
B) ™4 H,80,

C) NH,OH
Dy HCI

43, AEEH 2ATEE 6,
¥t 3l FATE e T uE deferw
TIHISATTS HEAEES B |
A) fefrs amm
B) wEETEA
C) st
D) E-mafEam

854, Hﬂﬁlﬂiwmm:
WA B A, s sl # ) ar e
& = & 100 on e g 2
A) HHEH
B) mmmza
C) &m

85. areHl A i\ =

02 EE(LE)



86. ___

88.

89,

90.

__isa positively charged sol.

A) Haemoglobin
B} Starch

C) Eosin

D} Congo red

. The formation of micelles takes place

only above a particular temperature
called

A) Elevation point

B) Critical temperature (T)

C) Freezing point

Iy Kraft temperature (T,)

'l’h:: calculated magnetic moment for
Zn” ion is

A) 2.9 H) 2.2

C) 1.8 ) 0

Example for the solutions that show
large negative deviation from Raoult's
law form maximum boiling azeotrope
at a specific composition

A) Ethanol-water

B) n-hexane and n-heptane
C) Benzene and toluene

D) Nitric acid and water

In a first order reaction, time required
for completion of 99.9% is times

of half-life I[t}rﬂf} of the reaction.
A) BD

B) 20

C) 5

D) 10

oo Mo, 23

BT.

88,

B9.

T YT B 8 A
i
A) i
B) =
C) s
D) = &
g & fmfo o R @, fE
wed §, & FR f e g |
A) T g
B) i e (T,)
C) famis fig
D) s A (T,)
Zn® AP Ea aivwfem Sashr s 2
A) 29 B) 2.2
C) 1.8 D) 0
e fafire draa W witeas IEe
TRt Tam are 3R T3ee & Fam E
sifirs e Faraem 2o T R
T FETEAT B
A) gEETa-a
B) n-EFA 3T p-geA
C) #A TR Teg

D) el I I e

. we w9 ht sifufien 0 00.9% % qui B

#ﬁqﬂﬁﬁmm%mﬂ{tﬂj
w1 o & |

A) BO

B) 20

C) b

D) 10

02 EE(LE)
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92. The styptic action of

93. Colloidal

. The number of reacting species taking
part in an elementary reaction, which
must collide simultaneously in order
to bring about a chemical reaction is
called _ of a reaction.

A) order

B) molecularity

C) metastable state
I} reactivity

and ferrc
chloride solution is due to coagulation
of blood forming a clot which stops
further bleeding.

A) alum

B) haemoglobin

) magnesium chloride

D) ferrous chloride

iz used in curing

Kalaazar.
A) gold B) silver
C) antimony D) lead

94, Copper matte contains

95.

A) Cu,0 and Fe,0,
B) Cu,S and Fe, 0,
C) Cu,O and Fe,0,
D} Cu,S and FeS

also called saccharin, is
the first popular artificial sweetening
agent.
A) Sucralose
B) Para-sulphobenzimide
C) Meta-sulphobenzimide

D) Ortho-sulphobenzimide

o1, e e B v o el

e < e W@ o TEEiEs Al
1 =3 ¥ fou v T T B, sihifeg
o HEeiml 2 |
A) R
B) snfoashal
o) andfen feafa
D) fufwarerr

g2, 3w fes wwns faemm f
T i ge 599 8 T F Shed
¥ s gt 2 Pyl e v a9 2
A) frzeit
B) SHmeE
) #ftfirm w=inEs
D) %H FAES

93, wfere TR F TFAH F
Tere v BT 2
A) = B) =@
C) v D) &

94, H 8 § BT B |
A) Cu,0 3 Fe,0,
B) Cu,S HHh Fe O,
C) GUEDmFEEDq
1)) CuESEfRFeE

95. 1 A0 oft wEd §, 78 wom wfig
Fan e wfids 2

A) o

B) ¥0-wewrifiams
C) TI-HewiEimmes
D) wful-avgrishige

02 EE(LE)
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96. In one dimensional close packed
arrangement, the coordination

number is
A) 3
B) 2
C) 4
D) 1

is used in the treatment of
lead poisoning,

B,

A) D-penicillamine
B) EDTA
C) Desferrioxime B
I} Cis-platin
98. In mercury cell, the electrolyte is a
paste of
A) HgO and Carbon
B} Zinc-mercury amalgam
C) HgO and Zn0
D) KOH and ZnO

99, The sum of powers of the concentration
of the reactants in the rate law

expression 15 called the of that
chemical reaction.
A) order B) molecularity

C) elementary ¥ half life

100. The decomposition of gaseous ammonia

on a hot platinum surface is a

96, U fadtE 97 9w =Ee o, g6
e R
A) 8
B) 2
C) 4
D)1

97, dd & R % agun o
g B2 |
Ay D
B) EDTA
C) frasfaisamg B
Dy faa-onfz

98, 9r #Ft He A,
T swga @
A) HgO 3t wrA
B) wEm-um famem
C) HgO 5 ZnO
D) KOH 3R Zn0

99, ot Prm afimufen § sfeiw € wigm
i it ® 4w, TEERE sfifm

=t T i

AT E |
A) FH B) e
C) fers D) 314ig

100, W T wfEm g w i S
foreres 359 g W i

order reaction at high pressure. & whfEm # e
A) zero B) first A) I3 B) qug
C) second D) third C) feia ) T

A Page No, 25
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101

102.

103.

104.

105.

106.

ENGG. MATHEMATICS

. The total number of terms in the

expansion of (x + H]."" —(x - m-’-l i

A) 102 B) 25
0) 26 D) 51
If the 21* and 22™ terms in the

expansion of (1 + x}'! are equal,
then x =

8 21
A) =

E)ﬁ

23 7
) o1 ) 3

If A 18 a square matrix such that
A=1 then(A-TP+(A+D)¥=TA =
A) I+ A B)I-A

C) A D) 3A

00 5
The matrix ﬂ=[ﬂ & 0)lisa
b 0 0
A) Scalar matrix
B) Diagonal matrix
C) Identity matrix
D) Square matrix

B
ifa=| 2 1 3
T + S |

then

A) Only AB i= defined

B) Only BA is defined

C) AB and BA both are defined

D) ABE and BA both are not defined

2 3
and B=|4 -2|,
1 5]

If f(x) = x + cotx, then sin‘x (%) + 9% =
A) —2f(x) B) fix)
C) 2f(x) D) ~f(x)

101.

102,

103.

104.

105.

106.

a1fer. mifoma
(x + )™ — (x = a)"' % T & odf 6
el A B
A) 102 B) 25

uﬁ(}_.px}“%-‘.mﬁ 21313;“'{

ool qg W &, Al x =
g 21
A) 7 B) 99
23 7
©) 24 ) 8

9fe A I AR v v R fe AZ=
MA-D*+(A+T"-7A=

Ay I+ A B) I-A

C) A D) 34

0], @
0

i 2 8
1]$1'er=4 -2

%,a’r 1 51
A) *as AB gfoafim 4

B) %aw BA wfonfag 2

C) AB 3R BA St wivrfis &

D) AB st BA 2 wforfum =4 3

Al fi(x) = x + cotx B, 1 sin’x f(x) + 2x =
A) —2f(x) B) f(x)
C) 2f(x) D) —fix)

02 EE(LE)



107. Hy= J]{-I- \):,r +‘||x+ Jv +.... , then
dy _

108.

109.

—

dx

¥+Xx
A)
.!-'2 - 2x

3’3—::

2y% - Zxy -1

B)

vy — X

C
) Eyﬂ—:-r.

y? - x
E:r’ﬂ—i’xjr-l

D)

The sides of an equilateral triangle

are increasing at the rate of 2 cm/sec,
The rate at which the area increazes

when the side is 10 ¢m is
A) 10 em¥sec

B) 3 emsec

C) 1043 em®/sec

1) ]:g—ﬂ cm’/sec

Equation of the tangent to the curve
vl + xE}l = 2 — x where it crosses

¥y —x
2y% —x

C)

py L2
) ay® - 2xy -1

108. % Fwag fgm 6 a2 em/sec

] ".-r_p

DY E I T YT 0em &, AR LT
Ly Y F u"':r
= om0 e 9 T 3 %{ P
£ KA
A) 10 cm™/sec 'ﬁd o
B) v3 em®fsec H#L{;'J}
C) IDJE emlsec 4 ) {3
/1 %
fe F, __.,-'-"'_'-'_ -
D) =2 em¥sec /) f= (=¥
3 :
5 Ly

109, T y(1 +x2) = 2 — x T = Y W o O
w0 B R x-g0 WA w7

¥-Axis is | e
A) x+5y=2 A) x+by=2 'I'w,ﬁh'ﬂ.
B) x-5y=2 B) x-5y=2 1543
C) 5x—-y=2 C) bx-y=2 1
D) Sx+y=2 D) Bx+y=2

IF\'
e a?

02 EE(LE)
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110,

111,

112,

1143.

jmn“_:-: e
E0OE X
1.:!11?1;
B
[ |
[ _I' L
L
i
: T
) =
COs X
[§)] L +
Tens' x

Une vertex of a square ABCD is
Al=1, 1) and the equation of one
diagonal BD is 3x + y — 8 =0, then
L=

A) (=5, 3)
B) (5, 3)
C) (5,-3)
D) (2. 5)

The point of intersection of any two
straight lines of the family of straight
lines (1+ 2k)x + (1 + kiy —(3k+ 2)=0,
ke Ris

A) (0, 0)
B) (1, 1)
€) -1, 1)
D) -1,2)

The inclination of the inex -y +3=0
with positive direction of x-axis is

A}y —135" B) 135°
C) —45° D) 45°

111.

112.

113.

Poge No, 28

C) —=

9 Tms’x
@t ABCD 1 7% 3fd A(_1, 1) 3fr =5
foet BD & wiftmr gx + v - B =08,
i C =

A) (-5, 3)

B) (5, 3)

C) (5, =3)

D) (2, B)

diedt T (1 + 2k)x + (1 + )y —
(Bk+2) =0,k e R% T =1 findl 2
#ndi Tt = wireden g 2

A) (0, 0)
B) (1, 1)
0) -1, 1)
D) (-1, 2)

x-9f 1 wewss fom & mma T
X~y +3=07 gFME &

A) —135° B) 135°
C) —45° D) 45°

02 EE(LE)
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114. The reflection of the point (=3, 4} in
the inex-y=01s
A) (3, —4)
B) (4, -3)
C) (-3,.-4)
D) (—4, 3)

115. The distance of the point P(1, -3)
from the line 2y — 3x =418

A) 13 units

713
B) 73

units

C) \I"ﬁ units
D) None of these

sinx  _
A xh—';na{1+-:n:-s::}
A1l
1
B) 5
Cy O
Dy -1

sinx® _

117. lim
=0 X

A) 1

By =n
T
180

180

C)

D)

A (sano )

<X

114, @1 x —y = 01 fiig (-3, 4) H1 T 2

A) (3, —4)
B) (4, =3)
) (=3, —4)
D) (4, 3)

115, t@n 2y -3x =48 fig P(1, -3) Fr gl 2
A) 13 7%E
B) 7—1{;——3-33#

C) 13 7
D) & & wid Tl

. sinx _
18 :El-r.nu (1 + cosx)

Ayl
1
B) E

C) 0
D) -1

. Binx® _
lim =
=0 X

A) 1
B)

117.

© g
180

D)

02 EE(LE)




A &
o
x+x+x 42" —n

118, If Iim —— — =5
% 1 x—1 4
thenn =
A) 10

B) 5

C) &0
D) 11

118, If 3sin{x + v) = log(x + v), then
diy
dx
A) D
B) 1
C) cos(x + v)

Dy -1

b 10D
¥

120 Fy=1-x+x"—x%+.. —x™+y

then g-]iat:q:=lis

X

A) 150
B) -50
C) —150
D) 50

121. If a particle moves according to the
law x = ¢', then its velocity at time
t=01s
A) 1
B) 0
C) e

D) None of these

A Pnge No, 30

118.

115,

120,

121.

5 H | n
+#x°+x " +...+X =D
X X =E‘EI

b
2 dAIn=
A) 10
B) 5
C) 50
oy 11

x—1

af2 3sin(x + y) = log(x + y) &, 7

B) 1
C) cos(x + v)
D) -1

@ 1
MBy=l-x+x" -+ ... —x" 4+ x'0

g @x=1m "—ijlm
dx

A) 150

B) 50

C) —150

D) 50

“ﬁﬂﬂimx=etﬁ;ﬁﬂq%m
e B, W W = 09 36 4
A) 1
B) 0
C) o

D) = A =
02 EE(LE)
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123.

124.

X O N0
HA=|0 y 0 . then inverse of
00 z
. dxh
A
(x 0 0
A0 v 0
00
B
/0 o]
Bplo ¥ o
) y
D 0
. z'-
1 0 0
cylo 1o
0 01

[y Does not exist

The range of sine function is
A) (=1, 1)

B) [-1,1)

C) R—(-1,1)

D) None of these

If f(x) = x*, then f'(x)=

A) xx*

B) x* (1 + logx)
C) x* (1 —logx)
D) None of these

! D) 38 A w8

123.

124.

2 @AS

B)

C)

1
0
|0

= e =

D) wfEm 2

w1 e i 2
A) (=1, 1)

B) [-1, 1)

) R-(-1,1)

D) % § =i T

ofE fx) =x* B, @ (%)=
A) xx*7!

B) x* (1 + logx)

C) x* (1 - logx)

02 EE(LE)




e
1—%

125

127.

123.

Jim 280X 125.
x =i [l X
A) 1
B} =1
C) o0
I} Does not exist
. The probability of A occurring is 0.5 126,
and that of B accurring is 0.3, If A
and B are mutually exclusive, then
probability that neither A nor B
occurs 1s
A) 0.6 B) 0.5
C) 0.7 D) 0.2
The mean and variance of a binomial 127.
distribution are 4 and 2 respectively,
then the probability of 2 successes is
37 219
Ay 9f ik
} 256 B) 256
128 25
C) 258 D) 556
The probability that a leap year 128,
selected at random has either
53 Thursdays or 53 Fridays is
1
A) =
2
B) -
cy 2
()
o 3
) T

Page No, 32

-1

. tan "X _
Iim —=
¥ =) X

A1l
B) -1
C) 0
D) wftae 7 78 2

AFER FIaoREm o5 BHEn $
wiftRar 0.3 2 | 9f2 A 3 B v 3=
E a3 ar A9 d B EE B wiitmar 20f

A) 0.8 B) 0.5
) 0.7 D} 0.2
e favdta smEes = o s fasm

w4 3 2§, @ 2 aftodi <6
i 8

37 219
4) 256 B) 256

128 28
© 256 D) 356
aEfEEE ¥ Y 99 W s oy o # @
Al 53 TFEH 1 53 TFEAR B H1 wriee
G|l

1
A) =

2
By =
) T
c) 2
) 7
D) ,—?

02 EE(LE)
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o0, Ifa, by e arein AP, then the straight

130.

131.

132.

line ax + by + ¢ = 0 will pass through
a fixed point whose co-ordinates are

A) (1, -2) B) (1, 1)
Cy (2, 1) D) (3, 2)
If the line 2x + y = k passes through
the point which divides the line
segment joining the points (1, 1) and
(2, 4) 1n the ratio 3 : 2, then k =
A) 5 o
E} E "n._"'h."'\:b:ly
11 WRY o N " d-.\.]
29 ¢
1) _5_ .,U-:*F:‘ql!l
¢ [LHCOSA _X thentan A=
l-cosA ¥
n 5
x* = FE
2xy
) a 2
A o
C) —;?I‘LE
Xy
dxy
D) 3"2 _ :H!E

100 9 by, then
H‘{\.‘E’i‘l} =EE {ﬂ_'l']b}:

HE +b2= s w7 .}',_Jnf"l‘-ﬂh‘l’_'t.-)
A) 2 “ ﬁ.ﬂ)} B
)
o) 4 ";.J?i'];lﬁ
C) 6 1N 1-4.--1;;"
D) 8 :

128,

130,

131.

132.

ﬁn_hpcﬂﬂiﬁ&uﬁﬁtuﬁmw
ux+by+ﬂ=ﬂqtﬁﬁﬁaﬂﬁ-gﬂw

o Friam #
A) (1,-2) B) (1. 1)
C) (2,1 D) (3, 2)

af T 2x + y = k 1 fig & ed B, A
figat (1, 1) 3 (2, 4) T g A YwwE
1 3 2% o & fonfom e &, A=
A) 5
B) 6

afg (V3 + i]mﬂ =2%(a+ib) &,
a?+b'=

A) 2

B) 4

C) 6
D) 8

(pieNo-20

02 EE(LE)
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& GE ] '-—-\.rl
143, Valueofi+ Tl L . upto 100 133. 1+ i+ i+ lﬂﬂqﬁi {I ]
terms I:.i = »."'—_'JJ 18 1 A
A) 1 A) 1
B) -1 B) -1
Q)0 C) 0
D) 2 D) 2

134, If 2+iv3 is a root of the equation 134, af Wl 4 px+q=0F T 2+iV3
x*+ px + q = 0, (where p, q are real) 2, {mﬁp,qﬂ'iﬁﬁﬂ?'gl?ﬁ(l],ﬂz
then (p. g} =
A) (4,-7) Al Sl
B) (4,7 B) (4,7
C) (4,7 C) -4, 7)

D} {_"'I! _7} Dj I:_41- _T.:'

135. The coefficient of %" in the expansion 135. (1+x)™ 3R (1+ 0! % fremm 3§
of (1 +%*® and (1 + x)* " are in the " HIE___ HF S H R
ratio

A)1:2 A)1:2
Br1:3 B)1:3
C} 3:1 C) 3:1
Dy2:1 D21

136, The distance between the lines 136, @3 2x -3y +7=03M 2x — 3y -6=0
-3y +T7=0and 2x-3y-6=01is a:_fﬂi‘-@g o ¥
A) 14 S

} 14 A) 14 i
B) Vi3 B) 1z .o,
0 iz C) V15 -
D) 16 D) V16 i

137. The point of intersection of the lines | 137. W@naf x+y=0 3t 2x —y =9 =

x+v=0and2x—vy=9 ia wireded fig &
A) (3, 3) E'.]' (2, 3) A) (3, 3) E'} (2, 2)
—C) (3,-3) D) -3, 3) C) (3,-3) D) (-3, 3)
A - .J"II ape No, 3 . 02 EE(LE}
] i"'_.-f".-'
: IH:JF - el o o FEA
Tyt 2 gy, N (o




139

141.

142,

_ 1 the dingonals of a rhombus are

i cm and 9 em, then its area is
B) 27 em”
m 17 em®

i

) 20 ::m"J

jfsin A= 0.4, thencos 2A =

A 0.70 B) 0.68
) 0.72 D) 0.8
The value of cos(—7656%) 1s

1
A) 'I‘i

1
B) N

1
C) ‘E

) None of these

1 dx = A log(x +1)

Ifj{:-;+1}'[‘i"2]
+ Bllogx - 2)+ C. then
A) A+B=0
E}ﬁ—‘B':ﬂ ,,-.r..g-..E
C) AB=1 A"
D) AB=-1

integer

If [x] is the greatest

2
function, then £ [xi]dﬁ -

A) 52+
B) 6-v¥2~
) -6-v2-
D) 5+~.I'r_.-'

ok

-

138. afe UF AHEqHT * fawol 6 em # 9 em

139.

140,

141.

142.

2, 7 T A B

A) 28 em® B) 27 em®
C) 30 em® D) 17 em®
af sin A=04%2 A cos 2A=

A) 0,70 B) 0.68
C) 0.72 D) 0.8

cos(—T765°) =1 7H &
1

W
B) .—:E
0 %
D) T @ FIE T

1 dxsﬁ.lﬂg'{l"'”
® |-

+]E!(lﬂﬂ-'“_“:‘P-"HE:E'?iil
A) A+B=0

B) A-B=0

C) AB=1

D) AB=-1

z
o [x] e i T & {I“s]‘l“

A) 5-4Z+43
B) 6-v2-8
C) -5-v2-43

D) G+v2-+3
02 EE(LE)



146, If f(t) =

143. Area of the }'JET“'I]][—‘-]{:I:.‘,THH'I whose
t':djur:en: sides are i + k and

2i+) +k is

A) V3 e
B) 4 T.r.::r_/,. .

C) V2 ﬁl.-r;ﬂ“ i
D) 3

144. It [axB| + [a-B[ =144 and

|a| =4, then [b] = .;;J:’**\J'
A) 18 I,-e'E _ﬁ"l"-uj o

B) 8

C) 3

D) 12

145. Ifa and b are twounit vectors inclined

at an angle % then ]E + EJ 18

Al =1
B) <1
C) >1
D) =0

cost t 1
2emt t 2t then
sint t t

Poge Nao, A6

143, TR =adE F1 dwwa w70 g, Eh
dr e i+ ks 2i+i+ k7

144.

146,

A) 43

B) 4

C) 2
D) 3

aft [ax b + [a-B[ =144 3t
[a] =42, @ b] =

A) 16
B) 8
C) 3
D) 12

. 4 Eﬁtﬂﬁmﬁﬁﬁﬂg—ﬂaﬁm

wghd @ [a+b| 2

A) =1
B) =1
C) =1
D)y =0
T
afy £(t)=|2sint t 2t 2, =
i Ot
i KEE)- -
th—rfr £ . i
A) 0 | 1e S
B) -1 e |\ e Lo
C) 2
D-} 3 - ||| njﬂ._h.:...-'-' = l:-
HZ‘EE[LE}
yeese
Kul_l ’ -F“."’:::

Lo



147,

148.

149, If

150.

If %, v, z are all different from zero

1+x 1 1

| 1 1 l1+2

-3 -1 g
L B S

ani

A) xyz B) —x-y-=
C) x iyt D) -1

If A is any square matrix of order
3= 3, then |3A]| =

A) 3JA|
1
B) §|~“!'*|

Cy 9lA|

I} None of these

[1 00 ED] [uﬂ 100
a.n

20 10 10
then |AB| =
A) 10000
B) 20000
C) -10000
D) —20000
1 -2 2
IfA=| 2 1 -1},then
-1 2 1
det[ adj (adj (ad] A))] =
A) 15° B) 15°
o 15" D) 156°

|

147. Al i x, y, z 79 & fir € 3l

1+x 1 1
1 1+y 1 =ﬂﬂ,ﬂ
1 1 l1+z
sty ez R
A) xvz B) =x=-y-z2
0 xlyle! D) -1

148, af2 A =f2 3 x 35 =g =1 =g 7, A

|3A] =
A) 3l

1

=|A
B) 3lA
C) 9/A|
D) T § g T

100 &0 110 100
149. zrﬁﬁﬁ[zﬂ m]aﬂtﬂ_[m m]
2, 7 |AB| =
A) 10000
B) 20000
C) —10000
D)y =20000
1 < 3]
150. 3 A=| 2 1 -1|& =@
)

:]ut[ndj (adj (adj ﬁ]}q =
A) 15% B) 15
C) 15° D) 15

02 EE(LE)
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